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Time : 3Hrs. Sem - IV-EC 

BCT & SE

Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4marks.

Answer all five questions from Group C, each question 

carries6 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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6

6
8. Define band gap and bandwidth. What is the 

difference between them.

FM 

PCM?

PCM 

The load current in the transmitting antenna of an
unmodulated AM transmitter is 8A. What will be
the antenna current when modulation is 40%.

AM 

6

9.
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1. Choose the most suitable answer from the following

options :1x20=20

(i)

(i)

(ii)

P.T.O

OR

6

The frequency range of VHF is

(a) 30-300MHz 

(b) 3-30MHz

(c) 3-30GHz

(d) 3-30KHz

VHF 

present time is

(a) TDMA 

(b) CDMA

(c) FDMA

(d) None of these

                 GROUP  - C
                 GROUP  - A

5x6 = 30
Answer all Five Questions.

7.                  What are the considerations of open air theatre 
                 auditorium.

                 

A signal has a band width of 3300 Hz. What is 

Nyquist sampling rate.  If the signal is digitized to 

10 Bit resolution then how many bits are generated

per second. What is the digital band width

Hz 

N4073N4073
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(iii)

(iii)

(iv)

(ii)

P.T.O

OR

OR

5.
4

Cosmic noise is caused by
(a) solar eruptions 
(b) industrial discharge
(c) distant stars
(d) lightning discharge

sideband is-------- of that of carrier
(a) 50%
(b) 40%
(c) 60%
(d) 25%

Prove that the bandwidth of AM wave is equal to
twice the modulating frequency.

AM 

FM 

PM and explain the terms associated with it.

FM PM 

State and explain ratio detector for FM waves.

FM 

6.
4
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3. (iv)

(v)

(v)

(vi)

4.

P.T.O

OR

OR

% 

0°C What is the velocity of sound at 10°C
-1

(a) 350 ms 
-1

(b) 320 ms
-1

(c) 360 ms
-1

(d) 336 ms

C  330ms 

In India----- modulation is used for radio
transmission
(a) Amplitude
(b) frequency
(c) phase
(d) angle

In an FM wave frequency deviation constant is 
75 KHz/volt and the signal amplitude is 2v. 
Find the maximum frequency deviation.

FM 
75 KHz/volt 2v 

AM 

one place to another?

4  

4
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(vii)

(vii)

(viii)

(vi)(xx)

Answer all Five Questions.
5x4=20

2.

OR

4

frequency is
(a) 5 KHz 
(b) 10 KHz
(c) 15 KHz
(d) 20 KHz

FM 

The B.W in case of AM wave, is the 
difference between

(a) f  and fu L

(b) f  and fc m

(c) f  and fu c

(d) f  and fc L

 1Prove that P  = P  (1 +  m�)  where the terms T C

have usual meaning

P  =  (1

Narrate the need of demodulation.

P.T.O

2

2
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(xviii)

(xix)

(xx)

(xix)

(viii)

(ix)

(ix)

(x)

The Super hetro dyne principle provides

selectivity at------ stage

(a) Audio 

(b) Rf

(c) If

(d) before rf

In a super hetrodyne receiver, the input at 

the mixer stage is

(a) If and RF

(b) Rf and AF

(c) Rf and LO

(d) If and AF

be generated by keeping two speakers in a 
room at two consecutive corners placed at
an angle of
(a) 60° 
(b) 45°
(c) 30°
(d) 90°

x

(a) 38.9 MHz 
(b) 33.4 MHz
(c) 5.5 MHz
(d) 10 MHz

P.T.O
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(a) 455 KHz 

(b) 10.7 MHz

(c) 5.6 MHz

(d) 10 MHZ

AM 

The FM broadcast signals lie in the 

frequency range between

(a) 540 KHz to 1600 KHz 

(b) 88 MHz to 108 MHz

(c) 540 KHz  to 108 MHz 

(d) 1600 KHz to 108 MHz 

of

(a) 2 Khz to 5 KHz 

(b) 20 Hz to 20 KHz

(c) 8 KHz to 10 KHz 

(d) 3 KHz  to 4 KHz

(a) spliting signals from one to many channel 

(b) modulating

(c) selecting signals from multichannel to a 

     signal channel

(d) demodulating

(xi)

(xvii)

(xi)
(xvii)

(xviii) (xii)

(x)(xvi)

P.T.O
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FM 

(a) lower 

(b) higher

(c) much higher

(d) two times

SSB S/N DSB 

modulation system?

(a) PWM 

(b) PPM

(c) both (a) and (b)

(d) none of these

transmitted in TV broadcast?

(a) VSB 

(b) SSB

(c) DSB

(d) DSB-SC

(a) Constant 

(b) Zero

(c) Proportional to modulating frequency

(d) Proportional to amplitude

(xv)

(xv)

(xvi)

(xiv)
(xii)

(xiii)

(xiii)

(xiv)

P.T.O
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Calculate the % power saving, when one of the 

side bands are suppressed in an AM wave, 

modulated to a depth of (a) 100% (b) 50%

AM 

classification.

FM AM 

10.

OR

6

6

11.

               

Calculate the % power saving, when one of the 

side bands are suppressed in an AM wave, 

modulated to a depth of (a) 100% (b) 50%

AM 

classification.

FM AM 

10.

OR

6

6

11.

P.T.OP.T.O
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OR

A carrier wave of frequency 10 MHz  and peak 

value of 10v is amplitude modulated by a 5 KHz 

sine wave of amplitude 6v. Find 

(a) modulation factor 

(b) side band frequencies 

(c) amplitude of each side band 

(d) frequency spectrum.

 MHZ 

***

               

OR

A carrier wave of frequency 10 MHz  and peak 

value of 10v is amplitude modulated by a 5 KHz 

sine wave of amplitude 6v. Find 

(a) modulation factor 

(b) side band frequencies 

(c) amplitude of each side band 

(d) frequency spectrum.

 MHZ 

***

N4073N4073
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